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Section : Part-A-General Intelligence and Reasoning

Q.1 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English

words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)

Meghalaya : Shillong :: Kerala : ?
Ans 1. Panaji

2. Chennai
«” 3. Thiruvananthapuram

4. Bengaluru

Question ID : 26433067371
Status : Answered
Chosen Option : 3

Q.2 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number is related to the third
number.

48:5::30:3::57:7?
Ans 1.2
2.4
" 3.6
4.7

Question ID : 26433069418
Status : Answered
Chosen Option : 3

Q.3 Which of the following numbers will replace the question mark (?) in the given series?
23, 27, 35, ?, 63, 83, 107

Ans #1147
2.43
3.55
4.39

Question ID : 26433068090
Status : Answered
Chosen Option : 1




Q.4

Ans

&4

Question ID : 26433069343
Status : Answered
Chosen Option : 4

Q.5 Which two signs should be interchanged to make the given equation correct?
561+ 11 x22+6—-25=158

Ans  # 1. +and x

2. +and x
3.+and +
4. +and —

Question ID : 26433082742
Status : Answered
Chosen Option : 1




Q.6

Ans 1.4
2.1
3.3

& 4.5

Question ID : 26433090066
Status : Answered
Chosen Option : 4

Q.7 In a certain code language, ‘STATION’ is written as ‘UVYVGMP’ and 'TRIUMPH' is
written as ‘VTGSORJ’. How will ‘HOLIDAY’ be written in that language?

Ans 1. JIMNGFXW
2. JIMNGBXW
3. JMNGFCW
" 4. IMNGFYA

Question ID : 26433081759
Status : Answered
Chosen Option : 4

Q.8 In a certain code language, ‘TABLE’ is written as ‘£E@6#%’, ‘LARK’ is written as ‘#@28’
and ‘BUCKET is written as ‘6$+8%%£’. How will ‘CLARET’ be written in that language?

Ans o F 1. +HH@2%E
2. +#26%$
3. 8#2%6+
4. 8#@6%E

Question ID : 26433069608
Status : Answered
Chosen Option : 1

Q.9 Which letter-cluster will replace the question mark (?) to complete the given series?
CTUJ, EVWL, ?, IZAP, KBCR

Ans o 1. GXYN
2. FXYO
3. FXYN
4. GXYO

Question ID : 26433067940
Status : Answered
Chosen Option : 1




Q.10 Which of the following numbers will replace the question mark (?) in the given series?
115, 102, 107, 94, 99, ?

Ans 1.92
2.84
3.96

o 4.86

Question ID : 26433076749
Status : Answered
Chosen Option : 4

Q.11 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

PENALTY : QFOBMUZ :: OFFENSE : PGGFOTF :: NERVOUS : ?

Ans 1. VOUSNER
2. SUOVREN

3. RENVOUS

" 4. OFSWPVT

Question ID : 26433069637
Status : Answered
Chosen Option : 4

Q.12 There are 7 people sitting around a circular table facing towards the centre - A, B, C, D,
E, F, and G. A is sitting to the immediate right of C and immediate left of D. G is sitting
to the immediate left of C and immediate right of F. E is sitting to the immediate left of
F and immediate right of B. B is sitting second right of A. Who is the immediate
neighbour of A and B?

Ans 1.G
2.F
3.E

& 4.D

Question ID : 26433074607
Status : Answered
Chosen Option : 4

Q.13 Which of the following terms will replace the question mark (?) in the given series?
MQEYV, ?, QOIT, SNKS, UMMR

Ans 1. OPHU
2. NPGU

«" 3. OPGU

4. PPHV

Question ID : 26433068308
Status : Answered
Chosen Option : 3




Q.14

Ans

v

Question ID : 26433078968
Status : Answered
Chosen Option : 1




Q.15

Ans

1.

Question ID : 26433085562
Status : Answered
Chosen Option : 1

Q.16

Ans

Seven people A, B, C, D, E, F, and G are sitting in a straight row facing the North. A is
sitting in the centre of the row. G and E are sitting at the ends of the row. B is sitting to
the immediate left of A. F is sitting to the immediate right of G. D is sitting to the
immediate left of E. C is sitting to the second left of E. Who is sitting between G and
B?

1.A
2.C

& 3.F
4.D

Question ID : 26433074622
Status : Answered
Chosen Option : 3

Q.17

Ans

Which option represents the correct order of the given words as they would appear in
the English dictionary?

1 inside

2 inertia

3 instruction

4 insight

5 individual

1.5,3,1,2,4
252143
3.51,2,34
4.51342

Question ID : 26433069299
Status : Answered
Chosen Option : 2




Q.18 A @ B means ‘A is the sister of B’.
A & B means ‘A is the brother of B’.
A # B means ‘A is the wife of B’.
A * B means ‘A is the mother of B’.
A + B means ‘A is the father of B’.
FX+TAM#G & C K@ H * Q, then which of the following statements is NOT
correct?

Ans 1. G is the son-in-law of T.
" 2. Gis the father of K.
3. C is the mother of H.

4. X is the maternal grandfather of M.

Question ID : 26433068952
Status : Answered
Chosen Option : 2

Q.19 Three statements are given followed by three conclusions. Assuming the statements
to be true, even if they seem to be at variance with commonly known facts, decide
which of the conclusions logically follow(s) from the statements.

Statements:

Some computers are phones.
All phones are calculators.

All calculators are i-pads.
Conclusions:

1. Some i-pads are computers.
2. All calculators are phones.
3. Some i-pads are phones.

Ans 1. All conclusions follow.
2. Only conclusions 1 and 2 follow.
3. Only conclusions 2 and 3 follow.

4" 4. Only conclusions 1 and 3 follow.

Question ID : 26433089424
Status : Answered
Chosen Option : 4

Q.20 Which two signs should be interchanged to make the below equation mathematically
correct?
48 -96 x4 +3+58=34

Ans 1.+and -
2.xand +

3.-and +

o 4.+ and x

Question ID : 264330117499
Status : Answered
Chosen Option : 4

Section : Part-B-General Knowledge and General awareness




Q.1 Which of the following Articles of the Constitution of India deals with the state
executive?

Ans 1. Articles 134-143
2. Articles 123-132

" 3. Articles 153-167

4. Articles 145-150

Question ID : 26433086852
Status : Answered
Chosen Option : 3

Q.2 The 'Method of Election of the president’ in the Indian Constitution has been borrowed
from the constitution.

Ans  # 1.1Irish
2. South African
3. German

4. United States of America

Question ID : 26433064813
Status : Not Answered
Chosen Option : --

Q.3 Mohiniyattam is a solo classical dance form related to which of the following states?
Ans 1. Kerala

2. Uttar Pradesh
3. Karnataka

4. Bihar

Question ID : 26433071658
Status : Answered
Chosen Option : 1

Q.4 Which Indian origin Sikh has been given New South Wales Australian of the Year
award 2023 for supporting the community affected by floods, bushfires, drought and
Covid-19?

Ans 1. Navjit Kaur Brar
% 2. Amar Singh
3. Jatinder Singh

4. Kamaljit Arora

Question ID : 264330114989
Status : Not Answered
Chosen Option : --




Q.5 InIndia, in which year was the National Food for Work Programme scheme launched?
Ans 1. 2005

2. 2000
o 3.2004
4.2003

Question ID : 264330116078
Status : Not Answered
Chosen Option : -

Q.6 Makar Sankranti is celebrated as Pedda Panduga in which of the following states?
Ans  # 1. Andhra Pradesh

2. Tamil Nadu
3. Karnataka

4. Kerala

Question ID : 264330115106
Status : Answered
Chosen Option : 2

Q.7 Pick the odd one out (Hint: fiber crops)
Ans  # 1.rubber

2. cotton
3. hemp
4. jute

Question ID : 264330115533
Status : Answered
Chosen Option : 3

Q.8 The mode of nutrition in which organisms take in nutrients from dead and decaying
matter is called nutrition.

Ans 1. Monotrophic
«# 2. Saprotrophic
3. Autotrophic
4. Heterotrophic

Question ID : 264330115254
Status : Answered
Chosen Option : 3

Q.9 'Mother of Mohiniyattam' is a docu-fiction based on

Ans 1. Shovana Narayan
" 2. Kalamandalam Kallyanikutty Amma
3. Mahaboob Subhani

4. Anuradha Pandey

Question ID : 264330115878
Status : Answered
Chosen Option : 2




Q.10 Budget documents classify total expenditure into

Ans 1. services and non- goods services
2. goods and incomes
3. part and whole expenditure

«# 4. plan and non-plan expenditure

Question ID : 264330115286
Status : Answered
Chosen Option : 4

Q.11 Which of the following was the main demand of the peasant movement of Kheda?
Ans 1. Free irrigation facility to be provided

2. Plantation system to be dropped
" 3. Revenue collection be relaxed

4. Hybrid seeds to be provided

Question ID : 26433089883
Status : Not Answered
Chosen Option : --

Q.12 In India, during October-November, with the apparent movement of the sun towards
the south, the over the northern plains becomes weaker.

Ans 1. Upper level trough
%" 2. Monsoon trough
3. Lee trough

4. Inverted trough

Question ID : 264330115988
Status : Answered
Chosen Option : 1

Q.13 Techniques of making silk were first invented in China around _______ years ago.
Ans 1.20000
2. 15000
o 3.7000
4.30000

Question ID : 26433090573
Status : Not Answered
Chosen Option : --




Q.14 Which Union Minister of Government of India inaugurated the Tech Conclave 2022 in
March?

Ans 1. Amit Shah
2. Smriti Irani
3. Rajnath Singh
" 4. Ashwini Vaishnaw

Question ID : 264330114930
Status : Answered
Chosen Option : 1

Q.15 Which of the following player was the highest scorer in the final match of cricket world
cup 1983?

Ans " 1. Krishnamachari Srikkanth
2. Mohinder Amarnath
3. Sunil Gavaskar

4. Kapil Dev

Question ID : 264330116295
Status : Answered
Chosen Option : 4

Q.16 Which country hosted the Asian Athletics Championship in 2019?

Ans 1. South Korea
2. Jordan
3. Philippines
«" 4. Qatar
Question ID : 264330115925
Status : Not Answered
Chosen Option : --
Q.17 Lime stone is the raw material of , among the given industries.
Ans 1. plastic industry

2. Furniture industry
" 3. cement industry

4. electronic industry

Question ID : 264330115394
Status : Answered
Chosen Option : 3




Q.18 The Supreme Court of India passed a judgment in in which it declared the
practice of Triple Talaq as unconstitutional and the practice of the same be void.

Ans 1.2018
2.2014

o 3.2017
4.2013

Question ID : 264330116224
Status : Not Answered
Chosen Option : --

Q.19 Atindependence, about percent of the India’s population was dependent on
agriculture.

Ans 1.90
2.50
3.100

& 4.75

Question ID : 264330116158
Status : Answered
Chosen Option : 1

Q.20 H,80, is the chemical formula for
Ans  # 1. Oil of Vitriol

2. Green Vitriol
3. Muriatic Acid
4. Blue Vitriol

Question ID : 264330115165
Status : Answered
Chosen Option : 3

Section : Part-C-Elementary Mathematics

Q.1 A batsman makes a score of 97 runs in 15th inning and thus increases his average by
5. Find his average after 15th inning.

Ans 1.15
2.82

o 3.27
4.92

Question ID : 26433082642
Status : Answered
Chosen Option : 1




Q.2 The population of a town increased from 145000 to 200000 in a decade. What will be
the simple growth rate percent of population per annum?

Ans 1. 4.856 percent
2.5.789 percent
o 3. 3.793 percent
4.2.165 percent

Question ID : 264330116828
Status : Answered
Chosen Option : 3

Q.3 A can paint seven chairs in an hour and B can paint four chairs in an hour. Determine
how much time they will require to paint 55 chairs when they work together.

Ans 1.7 hours
" 2.5 hours
3. 6 hours
4. 4 hours

Question ID : 26433074311
Status : Answered
Chosen Option : 2

Q.4 A sum of Rs.1,875 at 4% per annum increased to Rs.2,028 in certain time. If interest is
compounded yearly, then what is the time period?

Ans 1. 2.5 years
2. 3 years

3. 3.5 years
" 4.2 years

Question ID : 26433075677
Status : Answered
Chosen Option : 4

Q.5 37 is what percentage of 55? (correct up to two decimal places)
Ans  # 1.67.27%

2.64.91%
3.69.41%
4.62.77%

Question ID : 26433080298
Status : Answered
Chosen Option : 1




Q.6 calculate the volume (in cm?® ) of the cylinder having height 20 cm and base radius 14
cm.

Ans

3.

Question ID : 26433075821
Status : Answered
Chosen Option : 3

Q.7 The current population of a city is 125000. If the population grows at the rate of 2% per
year, what will be the population of the city after 3 years?
Ans 1. 133512
o 2. 132651
3. 130896

4.132165

Question ID : 26433080338

Status : Answered
Chosen Option : 2

Q.8 The marked price of a washing machine is Rs.23,500 and the shopkeeper sold it for
Rs.20,915. What is the percentage of discount offered by the shopkeeper?

Ans 1.10%

2.9%

3.12%

o 4. 1%

Question ID : 26433075189

Status : Answered
Chosen Option : 4

Q.9 A dealer professes to sell his goods at a loss of 16%, but weights 750 gm in place of a
kg weight. Find his total profit percentage.

Ans 1. 15 Percent

2. 11 Percent

3. 14 Percent

" 4. 12 Percent

Question ID : 26433080170
Status : Answered
Chosen Option : 4




Q.10 The LCM of 32 and 40 equals to 9 less than the square of X. Find the positive value of
X.

Ans 1.14
2.1
3.12

& 4.13

Question ID : 264330116647
Status : Answered
Chosen Option : 4

Q.11 A man buys a toy car for 135 and sells it for 150, find his gain percentage.

Ans 1.

Question ID : 26433076173
Status : Answered
Chosen Option : 4

Ans 1.23 cm
2.21cm
3.25¢cm

o 4.27 cm

Question ID : 26433076253
Status : Answered
Chosen Option : 4

Q.13 In a linear race of 1000 m, Saloni beat Shweta by 100 m, while Shweta beat Sonam by
150 m. By how many metres does Saloni beat Sonam, in the same race?

Ans 1.220 m
2.250 m
3.225m

o 4.235m

Question ID : 26433080378
Status : Answered
Chosen Option : 2




Q.14 Four prime numbers are arranged in ascending order. The product of the first three
numbers is 255 and that of the last three is 1955. The largest prime number is:

Ans  #1.23
2.31
3.17
4.29

Question ID : 26433081471
Status : Answered
Chosen Option : 3

Q.15 A boy travelled from the home to the college at the rate of 35 km/h and walked back at
the rate of 3 km/h. If the whole journey took 6 h 30 min, then the distance of the college
from the home (correct to 2 decimal places) is:

Ans 1.18.01 km
2.17.58 km

3.17.25 km

o 4.17.96 km

Question ID : 26433081594
Status : Not Answered
Chosen Option : --

Q.16 Aman, Ram, and Kapil can complete a work in 68 days, 51 days, and 17 days
respectively. If they work on alternate days such that Aman works on first day, Ram
works on second day, Kapil works on third day and then again Aman works on fourth
day and so on, then find the approximate number of days in which 50% of the work is
completed.

Ans 1. 19 days
" 2. 16 days

3. 15 days

4. 18 days

Question ID : 264330116908
Status : Not Answered
Chosen Option : --

Q.17 Find the mean proportional between 0.64 and 0.81.
Ans 1.0.70

2072
3.0.66
4.0.68

Question ID : 26433080113
Status : Answered
Chosen Option : 2




Q.18 Two numbers are in the ratio 3 : 8. If 8 is added to each number, then the ratio
becomes 1: 2. If 4 is subtracted from each number, then the ratio will become:

Al
ns 1

3.

Question ID : 26433087371
Status : Answered
Chosen Option : 3

Q.19 A farmer has 10 Parrots and 40 horses. Find the average number of legs per animal.
Ans 1.3.2

2.34

& 3.36
4.38

Question ID : 264330116693
Status : Answered
Chosen Option : 3

Q.20 With a 10% discount on the marked price, a seller earns a 5% profit. If the marked price

is increased by 5% and two successive discounts of 5% each are offered, how much
percentage profit does the seller earn?

Ans  # 1.10.5%
2.10%
3. 1%
4.11.5%

Question ID : 26433085450
Status : Not Answered
Chosen Option : --

Section : Part-D-English

Q.1 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

As of now, they have finished the construction of the ground flour.
Ans 1. construction of the ground flavor
" 2. construction of the ground floor

3. construction of the ground flower

4. construction of the ground flounder

Question ID : 264330100991
Status : Not Answered
Chosen Option : -




Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

| was delight in the moment | saw her.
Ans 1. delighted at
2. had delightful
3. was delighting
" 4. was delighted

Question ID : 26433088167
Status : Not Answered
Chosen Option : -

Q.3 Select the most appropriate synonym of the word given in brackets to fill in the blank.

Jack met with a/an (deadly) accident.
Ans 1. vital

2. deaden
«” 3. fatal

4. explicit

Question ID : 26433089076
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate ANTONYM of the given word.

Solitary
Ans 1. Indifferent

2. Lone
" 3. Gregarious

4. Loan

Question ID : 26433073867
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate synonym for the underlined word in the given sentence.

The pearls produced in that oyster farm have lost all their lustre.

Ans 1. front
" 2. shine
3. lustful

4. gloom

Question ID : 26433073753
Status : Not Answered
Chosen Option : --




Q.6 Select the most appropriate option to fill in the blank.

The person in ragged clothes sleeping on the street is a man.
Ans 1. cunning
2. learned
" 3. homeless
4. wealthy
Question ID : 26433085600
Status : Not Answered
Chosen Option : --
Q.7 Select the most appropriate synonym of the underlined word in the given sentence.
The country has an abundant supply of minerals.
Ans 1. Artificial
2. Sparse
«" 3. Ample
4. Natural
Question ID : 26433072061
Status : Not Answered
Chosen Option : --
Q.8 Select the most appropriate meaning of the given idiom.
The whys and wherefores
Ans  # 1. Underlying reason
2. Summary
3. Interrogation
4. Minute observation
Question ID : 26433072433
Status : Not Answered
Chosen Option : --
Q.9 Select the most appropriate ANTONYM of the given word.
Acceptance
Ans 1. Stoppage
2. Allocation
" 3. Rejection
4. Trouble
Question ID : 26433073797
Status : Not Answered

Chosen Option :




Q.10 The sentence given below has one misspelt word. Spot the INCORRECTLY spelt word

and select its correct spelling.

He wishes to be an orthopidic surgeon.

Ans 1. Orthapedic
2. Ortopeedic
«# 3. Orthopaedic

4. Orthopadic
Question ID : 26433073557
Status : Not Answered
Chosen Option : --
Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
My aunt Geeta, / is knowing / my friend Rudransh / very well.
Ans 1. very well
2. My aunt Geeta
«" 3. is knowing
4. my friend Rudransh
Question ID : 26433086457
Status : Not Answered
Chosen Option : -
Q.12 Select the INCORRECTLY spelt word.
Ans  # 1. Spead
2. Task
3. Salt
4. Brand
Question ID : 26433073495
Status : Not Answered
Chosen Option : --
Q.13 Select the most appropriate ANTONYM of the given word.
Captivity
Ans 1. Persistent
2. Accused
«# 3. Liberty
4. Haemorrhage
Question ID : 26433089114
Status : Not Answered

Chosen Option :




Q.14 Select the most appropriate homonym to fill in the blank.

What of a movie is this?
Ans 4 1. kind
2. can
3. keen

4. con

Question ID : 26433088791
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate option to fill in the blank.

The Conjuring is not a movie for the of heart.
Ans o 1. faint
2. emotional
3. strong

4. paint

Question ID : 26433084604
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The blockade of the national highways leading to the Manipur valley, called by the United
Naga Council (UNC), has been in place since 1 November. This has severely affected life in
the State, with shortages and (1) costs of essential supplies such as fuel and
food, even as demonetisation has (2) problems. Blockades like this are not new
to Manipur. In 2011, there was initially a hundred-day- plus blockade enforced by Kuki-led
groups, and countered later by Naga groups, which together had a (3) effect on
life in Manipur. This time the blockade is in place to oppose the creation of new districts by the
Okramlbobi Singh government. On 9 December it issued a (4) notification for the
creation of seven new districts by bifurcating seven (of a total of nine) districts. This decision
had as much to do with long-pending demands — in particular, for a new Kuki-majority district
to be carved out of the larger Senapati hill district — as with easing administrative access to
(5) areas from the district headquarters.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans 1. diminishing

2. upfront
3. varying
" 4. escalating

Question ID : 26433088621
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The blockade of the national highways leading to the Manipur valley, called by the United
Naga Council (UNC), has been in place since 1 November. This has severely affected life in
the State, with shortages and (1) costs of essential supplies such as fuel and
food, even as demonetisation has (2) problems. Blockades like this are not new
to Manipur. In 2011, there was initially a hundred-day- plus blockade enforced by Kuki-led
groups, and countered later by Naga groups, which together had a (3) effect on
life in Manipur. This time the blockade is in place to oppose the creation of new districts by the
Okramlbobi Singh government. On 9 December it issued a (4) notification for the
creation of seven new districts by bifurcating seven (of a total of nine) districts. This decision
had as much to do with long-pending demands — in particular, for a new Kuki-majority district
to be carved out of the larger Senapati hill district — as with easing administrative access to
(5) areas from the district headquarters.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.

Ans 1. vindicated
«# 2. exacerbated
3. pacified

4. exceed

Question ID : 26433088622
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The blockade of the national highways leading to the Manipur valley, called by the United
Naga Council (UNC), has been in place since 1 November. This has severely affected life in
the State, with shortages and (1) costs of essential supplies such as fuel and
food, even as demonetisation has (2) problems. Blockades like this are not new
to Manipur. In 2011, there was initially a hundred-day- plus blockade enforced by Kuki-led
groups, and countered later by Naga groups, which together had a (3) effect on
life in Manipur. This time the blockade is in place to oppose the creation of new districts by the
Okramlbobi Singh government. On 9 December it issued a (4) notification for the
creation of seven new districts by bifurcating seven (of a total of nine) districts. This decision
had as much to do with long-pending demands — in particular, for a new Kuki-majority district
to be carved out of the larger Senapati hill district — as with easing administrative access to
(5) areas from the district headquarters.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans 1. counter

2. acting
«# 3. debilitating
4. befitting

Question ID : 26433088623
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The blockade of the national highways leading to the Manipur valley, called by the United
Naga Council (UNC), has been in place since 1 November. This has severely affected life in
the State, with shortages and (1) costs of essential supplies such as fuel and
food, even as demonetisation has (2) problems. Blockades like this are not new
to Manipur. In 2011, there was initially a hundred-day- plus blockade enforced by Kuki-led
groups, and countered later by Naga groups, which together had a (3) effect on
life in Manipur. This time the blockade is in place to oppose the creation of new districts by the
Okramlbobi Singh government. On 9 December it issued a (4) notification for the
creation of seven new districts by bifurcating seven (of a total of nine) districts. This decision
had as much to do with long-pending demands — in particular, for a new Kuki-majority district
to be carved out of the larger Senapati hill district — as with easing administrative access to
(5) areas from the district headquarters.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans 1. detail

2. lively
" 3. gazette

4. live

Question ID : 26433088624
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The blockade of the national highways leading to the Manipur valley, called by the United
Naga Council (UNC), has been in place since 1 November. This has severely affected life in
the State, with shortages and (1) costs of essential supplies such as fuel and
food, even as demonetisation has (2) problems. Blockades like this are not new
to Manipur. In 2011, there was initially a hundred-day- plus blockade enforced by Kuki-led
groups, and countered later by Naga groups, which together had a (3) effect on
life in Manipur. This time the blockade is in place to oppose the creation of new districts by the
Okramlbobi Singh government. On 9 December it issued a (4) notification for the
creation of seven new districts by bifurcating seven (of a total of nine) districts. This decision
had as much to do with long-pending demands — in particular, for a new Kuki-majority district
to be carved out of the larger Senapati hill district — as with easing administrative access to
(5) areas from the district headquarters.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans  # 1. far-flung

2. offshore
3. outskirts

4. secluded

Question ID : 26433088625
Status : Not Answered
Chosen Option : --




Q.1 B9 femay F gy § urfar # i 93 seafy uer a3
IRIad a1 § yger W e BT et A § -

Ans 1. 3T ST AAAM o foT Hgn
2. 3TUE G4 {7t BT
o 3. 7o gde famelt v
4. q6 Y 3O 91 @1

Question ID :

26433080914

Status : Answered

Chosen Option : 2
Q.2 fagfafla e d -31% UgaM -
A9 gy Wit S
Ans g1
2.8
3. 17
4.8
Question ID : 26433066821
Status : Answered
Chosen Option : 4
Q.3 Y@ifFd Weg-ugg & e waiftre Iuged s g
TP A 3a1 dR ¢ P R 9 51 I
Ans 1. 3 E>HA
2. O
3. At &
o 4. AR
Question ID : 26433062281
Status : Answered
Chosen Option : 4
Q.4 e 3R IS T TP Weg &1 e & A B a1 g s 87
Ans 1. Y UM &1 Sw3T-forma
2. i fopaft & Sftar =1 1 woh-sroi
3. 91d & &1 Tig-uwg
& 4. U TADPR Gd B arell-FHrauTst
Question ID : 264330109529
Status : Answered
Chosen Option : 4




Q5 3R ! 1Y Bl T2
39 9190 ¥ vgEd fpar fasivor ‘el f6w yoR &1 fparfadvn ¢ 2
Ans 1. QIR fohar fagior
2. 3 foban faziwor
3. Ta fopan faziwor
4. A oo faior

Question ID : 26433079231
Status : Answered
Chosen Option : 4

Q.6 o w= @t gfif 3hd wRe farg A -

wmdRT_ A amn
Ans 1.9
o 2. % T
3.9
4. %1

Question ID : 26433085031
Status : Answered
Chosen Option : 2

Q7 g ar & U Meg-JanT Tt R R F1 & forg, Yaifea um «) Sfa
fawe gae? ufamnfia #3-
fe-dl-arfeea ® Srard Ivs Yo U 93 SRSATdT W oTd 8 1’

Ans 1. §S 3 TadT
o 2. TP IPY fazaivsd
3. T % aoH
4. T g gD

Question ID : 26433062805
Status : Answered
Chosen Option : 2

Q8 fmfifed gerak ¥ R Suged wde 2 3-
it 3T g

Ans ¢ 1. dfegd Sl gl
2. eI HRAT
3. fewrd &
4.3 fatt

Question ID : 26433065770
Status : Answered
Chosen Option : 1




Q9 g & A H19 1 v Vg BT yafgar 82
Ans 1. g
2. ARS
W 3.7 1R
4. 9IRSt

Question ID : 26433092014
Status : Answered
Chosen Option : 2

Q.10 Y% F 99 F&T A UYH M HTIHER foar, A sasdr

fraa v #t gfef 3fa 2reg g1 Fifvmw)
Ans g1 9

2. 31
3. g™
4. 9T

faa i

Question ID : 26433062618
Status : Answered
Chosen Option : 2

Q1 Fafafead § @ gg o @-

Ans 1. 9gd AN TS O SIS US|
2. §gd QN T Y 418 US|
3. 95 AN % T SIS TS |
4. 9gd 9N U 1Y G416 TS|

Question ID : 26433066842
Status : Answered
Chosen Option : 1

Q.12 g Y fysedt & & 7 A1 Weg Frfifed are & Yifed weg #1 vataard T8 82

rafeEr A faeeht weu & g sifrge A1
Ans 1. TG
2. GRIVNRY
3. Fah
4. qfSrr

Question ID : 26433091340
Status : Answered
Chosen Option : 1




Q.13 YraH feares shaerd g1

Y@ifrd e & I vafgars e &1 Ig= FIvE|
Ans (1_;{\&

2. 994

3. QR

4. sl

Question ID : 26433079620
Status : Answered

Chosen Option : 1

Q.14 ;ﬁ%ﬁr@amﬁhﬁ@s%mwmﬁﬁaﬁmmﬁmmm
T8 JffY Fa1 F qer R 1

Ans g1 U dARE

2. % fow § dar

3. daR g & forg

4. TR F U g

Question ID : 26433070051
Status : Answered

Chosen Option : 1

Q.15 ‘aiaq'gn:r ’
Sy aT # Rad =T & g Suge areaiw &1 9 faswedl # 4 S
Ans 1. 31 f T G BT B
2. 9 %7 34 I 3|
3. gRI TS 7 3 B Bl

4. T I g el

Question ID : 26433067035
Status : Answered
Chosen Option : 4




Comprehension:

Frofoiad e # $o wreal o ger fean mar g1 o M fawedt ot werdr 9 Rad =it @t gfd
FIOT | TS WA & foTe Tad UG fadhed &1 99 He |

TR & a1 B- 3 FWR 1. Tl o 37 BT
2. A1 8l SATAMLR PEadl ¢ | Igd & B a8 & & 3.
FRA1 ¢ | SMAFRa &1 31 18 § o5 91 foreht o Y vy 1 1 R, I ferg gt
gﬁ 3R A BT URE & | WY 30 TER 3 Rig A H7 5.
|
SubQuestion No : 16
Q.16 f¥ad w1 F gfd & fog T Iuged fawey &1 aa+ S|
Ans 1_1;1?11%[
2. 3R
3. TBRI
o 4. R

Question ID : 264330111077
Status : Answered
Chosen Option : 4

Comprehension:

ffafad mar § $© sl B gel foar mar 81 AT T st ot weraar & e it @ gff
PO | UdSP TeAT & Tt Fad UG fadhed o1 9g- B |

TR F ared 8- SR FWR 1. LUEES 3T Hf
2. ST & d) AR HEeldl ¢ | 9gd I B a8 G & 3.
W%l frerfrRar &1 orf 7  fos 51 foreft 1l Y At 1 T Y, 39 ferw ot
ﬁ 3R A BT URE & | WY 3T TER 3 g A H7 5.

|

SubQuestion No : 17
Q.17 faa w2 3 gfef F fore wad Iuged faseq &1 9a Sl
Ans 1. 81
o 2. T
3.9%

4. o

Question ID : 264330111078
Status : Answered
Chosen Option : 2




Comprehension:

Frofofad et # oo wreal & ger foan mar g1 o M fawedt ot werdr 9 Rad =it @t gfd
HINT | TS AT & folT Tad Iugad [daed &1 T8 B

STAMHRAT T a1 8- 3 FWR 1. EISES 3T B
2. A1 8 ol SATAMLR PEadl ¢ | Igd & B a8 g8 & 3.
FRA1 ¢ | AR &1 31 18 § o5 91 foreht rd Y vy 7 1 R, 3 ferg gut
gﬁ 3R T BT IR 3| W 30 TER I g B 1 5.
|
SubQuestion No : 18
Q.18 f¥ad w1 3 F gfd & forg T Iugad fawey &1 aa+ Bk
Ans 1. Rufa
o 2. TER

3. A&
4. YdR

Question ID : 264330111079
Status : Answered
Chosen Option : 2

Comprehension:

froffed mere & o gl &1 ger i ma 31 fau T fawent @t werdr § Rad vt ot g
DI UdP TeAT & Tt Fad UG fabed o1 9g- P |

STAMHRAT T areqd 8- 3 FWR 1. TETI E 3T BT
2. ST & A1 AR HEelld 8| 9gd A B a8 G ¥ 3.
W%l frerfrRar &1 orf 78 § fos 51 fareft Bl Y ) 1 T Y, 39 ferw ot
a)—} 3R A BT URE & | WY 3T TER 3 g A H7 5.

|

SubQuestion No : 19
Q.19 f¥aa = 4 3 gfef F forg wad Suga faswed &1 9a Sl
Ans 1 TRl
2. Yergdl
3. fawad
4. HHUAA

Question ID : 264330111080
Status : Answered
Chosen Option : 1




Comprehension:

Frofafad e § oo wreal & ger fear mar g1 o M fawedt ot werdr 9 Rad =i @t gfd
PO | TdP TAT & [Tl Fad UG fadhed T 9a- Be |

STARAHRAT I a1 §- 309 FWR 1. TGl o1 3T B
2. A1 8l SATAMLR BEadl ¢ | Igd & B a8 & & 3.
W%l STEfRAT &7 312 7 § % o1 forelt d Y ) 1 17 R, 3 ferg ot
ao-} 3R T BT URE | W 3o TER I Rig B H1 5.

|

SubQuestion No : 20

Q.20 f¥ad w1 5 B gfd & fog T Iugad fawey &1 aa+ Bk

Ans

1.718
o 2. T
3. fawrd
4. &9

Question ID : 264330111081

Status : Answered

Chosen Option : 2






